Vial Company : Santos

BAKER Well : Henry 20WL STL
HUGHES Interval : 2030.00 - 2520.00 meters an S

INTEQ Created : 16/0ct/2008 5:42:51 Al
HENRY 2DW1 ST1 DRILLING DATA PLOT
Hookload Standpipe Pressure Bit RPM Torque Avg DXC
100 200/ 300 400§ 1000/ 2000| 3000 4000| 5000 50| 100| 150| 200| 250 5| 10| 15 20| 25 3 =
Klbf 3 psi RPM kftlb unitless ——|
Rate of Penetration 4 Flow In Weight On Bit Torque Max <f> §
200 150|100 |50 8 240| 480| 720| 960 | 1200f 10/ 20| 30| 40| 50| 5| 10 15 20| 25 55
mihr USgl/min kibt kft.Ib o
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HENRY 2DW1 ST1 DRILLING DATA PLOT
Hookload Standpipe Pressure Bit RPM Torque Avg DXC
=
100/ 200]  300|  400{S| 1000 2000] 3000| 4000 5000( 50| 100] 150 200] 250f 5| 10| 15 20| 25 3 =
Klbf 2 psi RPM kftlb unitless ——
Rate of Penetration s Flow In Weight On Bit Torque Max 'E_E> §
fay o
200 150|100 |50 S| 240| 480| 720| 960| 1200f 10| 20| 30| 40| 50| 5| 10 15 20 25 QE
m/hr USgl/min klbf kft.lb =




